B.AJ/B.Sc. (Part-I) EXAMINATION, 2019

ECONOMICS-II
(Indian Economy)

Time : Three Houars Maximum marks : 100 for Arts

75 for Science

Part-A Shall contain Question No. 1 consisting of very short type X (Ten)

questions. The candidate is required to answer each question in 20 words.

Part-B Shall contain Question No. 2 consisting of V(Five) questions. The

candidate is required to answer each question in 100 words.

Part-C Shall contain 3 eassy type questicns (one from each section) with

1.

internal choice.
Attempt Five question in all. All questions of Part-A and Part-B are
compulsory while rest 3 question are to be attempted from Part-C selecting
one question from each section. All question carry. equal marks.
Part-A ( 9FT-37)
Attempt all questions. Each queation carries 2 marks. Answer should
not exceed 20 words each _
T gT & IR N | TS UEE 2 3% Bl | TAD YT B
SR 20 TRl ¥ s T ' ARy
(i) Write the name of main Mineral of India.

R ¥ 97 W al Y@ G ge |
(i) Define population density.
e g Bl wﬁm%a PHIFTY |

(i) Write any two conditions of 'personal cultivation'.
P S I T faRay |

(iv) Sources of direct finance for Agriculture.

R 3 fog ny g @ o
(v) What is Disinvestment ?

fafew @« 27
(vi) State two main causes of rural poverty in India.

qRa # aE FEHG @ 31 W SR 1 Seord I |
(vii) Main imports of India.

AR & TE I |
(ix) Minimum Support Price (MSP).

AaH |HIA A |
(x) What do you understand by term Liberalisation?

FENIBT IS F Y T FHI 87 2x10=20/1.5x10=15

PART-B/ 9119 '

Attempt all questions. Each question carries 4 marks. Answer should

not exceed 100 words each. _ 4x5=20/3x5=15
T T B ST QY| TS U 4 3D BT 2| TAD JEH B

IR 100 =T § I%w T B - -
2. (i) Reasons of migration to Urban areas in India.
YRg § IE) DI AR TA™H S PRI |
(i) Imortance of public sector enterprises.




maﬁmﬂaa%wmﬁqﬁl

(111) Agncultural marketing in India. '

ARG H A R & BRI 3 sy

(iv) Explain the causes of rural poverty in India.

(v)

ARA | a9 Feaa & SR @1 qHsed |

Explain the main indicators of Regional Disparity in India.

ARG H WRRESE @HY) SRR & TG quhl $I qargd |
PART-C/ 9171-9

Attempt any three questions, selecting one from each section. Each
question carries 20 marks.

TS WU H ¥ Ud U @1 T X g AN T @) s
DINTY | T 99 20 345 &1 & |

3.

SECTION-A/ @vs-3
Describe in detail the basic features of Indian Economy.
: 20/15
ARAT sifaaen & favyael &1 afiar aoi= it |
OR / 3rqai
What is the role and importance of agriculture in Indian

Economy? What are the challenges facing Indian Agricuture in
the near future ?

IR AfTReN 3 P &1 1 AR Y9 78 & ? [Hoe
dg ¥ 9RAT PR S Ty ;1 AT 87 15+5/1243
SECTION-B/ @vs-§ -
Critically comment on the role of cottage and small scale
industries in Indian Economy. What is the latest government
policy about these industries. _ 15+5/1243
IRAY e i &g U9 IR Sam B AEE W
eraTe fewell S| 39 waril & arR A FdEan
PRI A Fa1 72 -
OR / 3r1El '
Write a detailed note on structure. composition and direction
of India’s foreign trade. : 20/15
YRd & fee) &R & @Re, deR @ R w® fga
o R |
SECTION-C/ @vs-¥q -
Discuss the main objectives of planning in India. What are the
main drawbacks of Indian planning. 10+10/7Y2+7Y2

URAR P @ I 3R Id1Ed | URdE PR @ 7

fapereTy @ 87

OR / 3yl N
“India is facing a serious problem of unemployment.” Explain
the causes, remedial programmes and suggestio for soluticn of
this problem with reference to India. -+ ' 20/15

Hed H 39 W & BRUN, PRIGRY, & BRIwE qon 39D
U 3 gEEa Suri @ fade S



